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M BAA
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el 2oAAST 2L (98
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Jl 643,978 637,578 6,400
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oz MHIA MI(E2A/2AHZ) 3,687,040 3,593,891 93,149
= 54,157 55,987 1,830
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= 411,620 409,758 1,862
= 2,635,132 2,546,201 88,931
sd & 1,370,905 1,396,255 A 25,350
= 54,157 55,987 1,830
Il 228,998 233,811 A4,813
s 86,633 85,071 1,562
= 1,001,117 1,021,386 N20,269
A2MEAd SEMHIA 72,000 72,000 0
Jl 36,000 36,000 0
= 18,000 18,000 0
= 18,000 18,000 0
101 el A4l 50,000 60,000 210,000
Jl 25,000 30,000 /5,000
= 12,500 15,000 A2,500
= 12,500 15,000 A2,500
04 JIZAtHZ2NHESE= 50,000 60,000 210,000
O2SHE A, S LA LS AL Q12|
&d3& 50,000,000 50,000 60,000 ~10,000
Jl 25,000 30,000 ~5,000
= 12,500 15,000 A2,500
= 12,500 15,000 ~2,500
201 L2249y 14,000 7,500 6,500
p) 7,000 3,750 3,250
= 3,500 1,875 1,625
= 3,500 1,875 1,625
01 AtR2telH 14,000 7,500 6,500
Ot 14,000 7,500 6,500
—sS2=2 & S &3 14,000,000 14,000 7,500 6,500
Il 7,000 3,750 3,250
(= 3,500 1,875 1,625
= 3,500 1,875 1,625
206 M=l 5,000 3,000 2,000
Il 2,500 1,500 1,000
= 1,250 750 500
= 1,250 750 500
01 M=Hl 5,000 3,000 2,000
oggadsizs 2¢ Z & 5,000,000 5,000 3,000 2,000
P 2,500 1,500 1,000
(= 1,250 750 500
= 1,250 750 500
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405 TH&HF S 1,500 0 1,500
] 750 0 750
= 375 0 375
2 375 0 375
01 M UBEFSH) 1,500 0 1,500
OYYa SYMSI 2Y 1,500,000 * 104 1,500 0 1,500
] 750 0 750
= 375 0 375
2 375 0 375
Eoix 2NN T2 68,825 78,700 £9,875
] 34,412 39,350 £4,938
2 34,413 39,350 74,937
307 2120/ & 60,825 70,700 £9,875
] 30,412 35,350 £4,938
2 30,413 35,350 74,987
ICEFEEY 52,125 62,000 £9,875
OHbl X, SRXBAHIA AHTY L 3
olaE(AE) B 52,125,000 52,125 62,000 £9,875
] 26,062 31,000 £4,938
2 26,063 31,000 74,987
P2 64,610 64,360 250
] 32,305 32,180 125
2 32,305 32, 180 125
307 212A0|H 64,610 64,360 250
] 32,305 32,180 125
2 32,305 32, 180 125
01 ABYLREY 64,610 64,360 250
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01 A2l 9,000 6,000 3,000
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307 212+0| 7,320 6,600
| 3,660 3,300
= 1,830 1,650
2 1,830 1,650
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= 56,525 56,375 150
i 56,525 56,375 150
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odgolsEse 50,000 » 129H& 600 0 600
| 300 0 300
& 150 0 150
= 150 0 150
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OLEDl ®A& olgael(2X) 8,000 0 18,000

p 9,000 0 9,000

= 9,000 0 9,000

201 Ler2gy| 5,000 0 5,000

p 2,500 0 2,500

= 2,500 0 2,500

01 ALzl 5,000 0 5,000

OE2E S MB(S2H) 5,000,000 5,000 0 5,000

p 2,500 0 2,500

= 2,500 0 2,500

307 QI2H0IH 6,000 0 6,000

p 3,000 0 3,000

= 3,000 0 3,000

NIEEEEET 6,000 0 6,000
OOIEDAIEE AB S Y (LYH)
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p 3,000 0 3,000

= 3,000 0 3,000

405 THAHE S| 7,000 0 7,000

g 3,500 0 3,500

= 3,500 0 3,500
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p 97,240 97,240 0
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= % 5,007 ~4,912
2 223 1,683 A11,460
R PNE S 31,744 0 31,744
OxI0h M 31,744,000 31,744 0 31,744
| 15,872 0 15,872
= 4,762 0 4,762
2 11,110 0 11,110
TTRAAEHE(2A/2AE) 908,617 890,818 7,799
= 345,422 345,422 0
= 98,856 86,356 2,500
2 464,339 459,040 5,299
2o BISLE 908,617 890,818 7,799
2 345,422 345,422 0
= 98,856 86,356 2,500
2 464,339 459,040 5,299
oI Y 67,983 62,684 5,299
] 42,000 37,000 5,000
A& H] 42,000 37,000 5,000
O8ASATIA HIJHY SXBAM 5,000,000 5,000 0 5,000
Xt &HF St 25,983 25,684 299
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OZ Y HAXY HOISS ATHH NBAL
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= 2,500 0 2,500
95 - PE(22A/BAAR) 424,359 418,731 5,628
= 2,659 2,779 A120
| 57,847 55,633 2,214
= 137,356 135,937 1,419
2 206,497 224,382 2,115
HEgpe ¥ UISMY 424,359 418,731 5,628
2 2,659 2,779 A120
| 57,847 55,633 2,214
= 137,356 135,937 1,419
, 2 206,497 224,382 2,115
ZQEEY TELAAY 860 1,100 A240
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St Y A 2,340 900 1,440
& 702 270 432
= 1,638 630 1,008
307 elrztold 2,340 900 1,440
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= 1,638 630 1,008
01 A2+ =4 2,340 900 1,440
Ogtdiel o= X& AL 1,440 0 1,440
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2etelor ElXIAN (= H1) 87,624 87,624 0
< 43,812 43,812 0
= 43,812 43,812 0
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= 9,100 8,600 500
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= 2,500 5,000 2,500
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= 22,000 20,000 2,000
02 2I2FCHEH AL 44,000 40,000 4,000
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< 22,000 20,000 2,000
s 22,000 20,000 2,000
2tEddE g9 20,586 20,586 0
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Il 16,200 A3,800
= 8,100 A 1,900
= 8,100 A 1,900
307 G12t0lH 32,400 A7,600
Il 16,200 3,800
< 8,100 A 1,900
= 8,100 A 1,900
01 A=Y= 32,400 A7,600
OU=SES Z& 30,000,000 30,000 A 10,000
Il 15,000 5,000
< 7,500 A2,500
= 7,500 A2,500
OB& 2t 2,400 2,400
Il 1,200 1,200
= 600 600
= 600 600
HHYRAES 42,000 9,644
Il 21,000 4,822
= 10,500 2,41
= 10,500 2,411
307 2120l A 42,000 9,644
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= 10,500 2,411
= 10,500 2,41
01 SI2€ <2l 42,000 9,644
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= 10,500 2,411
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HoJAEEX H&Hl X 0 3,692 A3,692
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= 0 923 2923
307 2120l A 0 3,692 N3,692
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01 g 2¥d+2H 0 3,692 AN3,692
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Il 0 1,846 AN 1,846
S 0 923 A923
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01 2NEXZEEI 49,696 0 49,69
OBt AL ST 20,000 20 0 20
OSYALSE JIp 7S 2,000 2 0 2
OXNSSsAY BEHA 1,859,000 1,859 0 1,859
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